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Accelerated Geometry CC
4.1-4.3 Quiz Review

Find the zeros of each function by factoring:

1. f(x)=x2-7x 3. f(x)=3x2+13x+4
O=X(x -3 0 =3xF Iy +12X+Y

- v J/q | 0= ><(3x+l\+<(3x+\\
=0 | X-3=0O 0 =3x+ (X-H-i\ 3x+1=0
2. f(x)—x2—9x+20 4. f(x) =9x2-30x+25 ]x,—lls)
0 = (K = b( Ll} 8= (3&-'-332 Rl
X-S=o X-4=oO | 3x-5 =0
X=5 )(:L* BX‘.‘-S
x=5/3
Find the roots of each equation using factoring:
5. x2-10x+25=0 6. 7x=15-2x2
. = S )=
(x=-5)Y"=0o s dw —15=0 eD(x+ )=o
% 2xF— 3% 4+ 10X—\5 =O )f/ X{-'S e
X-5 =9 | X(2x-3) +5(2x -3)=0 2x-3 o [x=-5]

xX=5

7. Write a quadratic function in standard form with zeros 6 and -1.

(x—x+1) —%‘L‘(x\ =x*5x —b

! X= f/z[

225
8. Complete the square for the expression x2 - 15x +_4 . Write the resulting expression as a
binomial squared. _15
(t=2
Solve the equation by completing the square:
—
9. x2-16x+64=20 10. x2-27 =4x 11.3x2+6x-1=0
2 PR
Xlox+ M =yl x4+ —~2:++‘* 3xhe bx =1
1
(x-2)= 20 T\ 3(x +2x+_L.\ =1+ 3(1)
»
X-2 =t2J5 —.:tIzT\ 3 Ld+ 1)
x=2t2l5 I x=2t 3 (X-H\ q/3»’
A X411 =E243
3
X= -1t 243
3 -

|

Write each function in vertex form and identify its vertex:
13. f(x) = 2x2 - 12x - 27

12. f(x) =x2+ 6x-7
R+ A = xBploX + PON+23+2030) = 2(x= box + 1)
fx)+ Y5 = 2(x-3Y

PO +16 = (x+3) |
\w\:(xﬂ\z_u, £ =2 (x-3Y-45
v(3,-45)

v(-3,-1e)
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Find the zeros of each function by using the Quadratic Formula:

14. f(x) =3x2-6x-5 : 15. g(x) =2x2 - 6x+5
G=3 b=-b ¢=-5 =2 b=-L =S
X= —-L_(o\ + Jg(o— L( L—S)(_gs = = (—- La\ Jg(o 4 (7—\&%5
2(3) 2(2)
X=etJde _ £WT X=tJ—y _ =+
© G 4 :
x = |t 24 (x=3. + I
3 | Z 2
Find the type and number of solutions for each equation:
b=Yac
16. x2 - 14x=-50 17. -14x =-x2 - 48
xZ |4x +50 =0 xZIYx +4g=0
19%-4(1)Y(s0)= 20 196 -4()x) =4 >0

ya lmaﬁir\&f‘-bﬂ L Zﬂ.&q

18. A pebble is tossed from the top of a cliff. The pebble’s height in feet is given by
y(t)=-16t* + 6t+200, where t is the time in seconds. Its horizontal distance in feet from the

base of the cliff is given by d (t) =5t . How far will the pebble be from the base of the cliff when

it hits the ground? N>¢/.aL 1
h=o .
=t T+ L 4200
= -0t 304 Wk
2(-10)

e - ‘1‘"
= L —3.4 ovr|3.%F|
-32 e
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